Problem . Consider a large tank holding 1000 L of water into which a brine solution of salt begins to
flow at a rate of & L/min. The solution tnside the tank is kept well stirred and is flowing out of the tank

at a vate of & L/min. f the concentration of salt itn the brine entering the tank ts 1 Rg/L, determine the
concentration of salt tn the tank after one howr.
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Problem 9. Suppose that the temperature of the cup of coffee obeys Newton’s law of cooling. f the
coffee has a temperature of 200 degrees whew freshly poured, and one minute Later has cooled to 190
degrees Ln a room at 70 degrees, determine when the coffee reaches a temperature of 150 degrees.
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